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& JdojA AB = BC = CD o]l

/CDE = 130° ¢ o], .CAB 9] 37]:=?

@ 15° @ 20° @25°
@ 30° ® 35°

/CBD = /CDB = 50°,
/ABC = 180° - 50° = 130°
- LCAB = (180° - 130°) = 2 = 25°
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/CDA = /a 2} 5},

/DCA =180°-(90°+ £CDA) =90° - Za

/ECB = 180°—(90° + /DCA) = 180°—(90°+90° - Za) = Za
(@)

ACDA €} AECB ©f|A]

i)CD = EC
ii )/CDA = /ECB =za (Q)
iii)/DAC = /CBE = 90°

i), i), iii) ol 23] ACDA = AECB (RHA &%) o|c}.

TE =9 o] Aol ZoB2 AC = BE = 3cem,
AD = BC = 5cm ©]t}.
AB = AC + CB = 8cm ©°|t}.

. OABED = 8 x @ = 32(cm?)
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